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EHET|"J 614 .J6H ETlE?_tel trgoJ3 7lrl|.trf?l,,4t+7l7l-+t! ETlsl e+qlts
trJ6ll gzlol +^fHr^1 "t .J6l1 gE ,JtTlel F^fHll^l= 4?+ 4E

4l 1+ El^lol  7l l*

I. El^lol Tllg

r.. El^le.l 7lle,
1) Hl^lB : sLal NPSIi l2d zlE?aa€+5ttF^l-Hl^l
2) € eJ 9 : 2006 t-J 12fl 229J
3) :jll}|^l :  ̂ lg+H^l eH+ qAtE 736-L
a) ,rlEE4 :

trJo'HHl^fE +5tlF^lHl^ffloll qaf €=JEl* Eqq^ftr^i trf+el TlrJ "l 7}|E
Fxfxl-Ee+E{ ̂feg ale.apq 7lg0l r l |++r 7l|d 4 +Ir€= qqotr Ell
46fts +5$g flEErsel^l El|gTlgel rl|++r 7t|d "l +rIEg flg6l 6f
tr, s*d +l++Etlel gf€4 ea(gEll,+el,11E)3 E6|q +xfrfEqlll g€ +
=0189 +&+qg d8g f ?ls.+ arg q40_E 6f-r. ?l+Lltrl.

s) ̂ fu 1 ^fE* frE : +^ft 6,136qfl,  ̂l$e 2,2ssqfl
6) SBq+ : dlltrJ,tf$ fi$.
7) Hl,t';-o; =+717J X dflLf^ff, (trEfoll €*ef e+)

trJot| i l^lol =+7l,Je H9!€=J57lzf greEll ^fg^f5+=01 "JAEJ + 1gg
gegrl 11Hg-* *gLlrf. g6t| gl^fts El,r.1.o1 €g rJlsT^ql el46fq qE 44
el ^f*ql 6l|.J6f: e+E d|]t^ff,e €6fr ?laLlrf.
o €3Joll^1 €er =BTlael Lr-e
@ ++*qel eet
O 

-sr$ EE= trl$
@ Eflel 6HtlEB IEts 6Ht!trJrJ
o 4ca|]s+8$el €=J9!7fel +lr

2. El,r.1o| ggl

1) trJdllEl^lol gq
7l) €=J3lf "l €=Jol+el HE^fEr

- 2006. L2. ts +tr6|lgr+(+, Z€n5g)el €H qlHlETf e?l
- 2006. t2. Ls EEll€eJ^fg E7f
- 2006. 12. ts gTlE "t €fl+ +B .Jg
- 2006. L2. Ls gaJ6gl T|lrl * Ei,71



^ltf gf al fl E+zl qt^il e (+^l q ̂ f a E'a^ltltl E+)
^f {jE$ gl =+zl qFfl e (+ trJ e g)
g HJ^f ++l =+7il qr ̂il E (+ fl a ts )

- 2006. L2. ts EPITft!8
- 2006. 12. 22 El&€ aJ
- 201.L. 01. 01 ^ltlHrJflq4qF HZ : (+)+alg6J

gHJ^l++l =+Zlqt EZ : tl*dofol Ef.(+)

Lf) AtHel HB : 6HB^|B fi,8

trl) -dE, gggh+ !E= BEBIE : 6H$,tf$ fl8.

el) 3gg-Frl ErflEJ 6e** ^l€sl "J8 : 6H'J^fg fl8.

2) El^l7l +6llglE TlgaEt
7l) TlgE'Jel 7[|e : 6]]Et^f$t fi$.
Ll) TlgE'Jql t+E! dl,tf : dl|'J^fg fl8.
tl) +lelHBS9 +Ellt|t E : o-}|B^fB fl8

3. IlEe EAS*

1) rlE+ ESgg (trJ91 : +, fl)

grf flE
=7tgJd)Hl +^lsl r{g €(alrr +

,..,.,f,188 '
t!+s

HII€'JE
F. T}

H.l€5F +s +=J
04 E!7lE

, ,

:+HFtg[
2006.r2.L9, \ l a l T L u : 1

=  t l l \ l E E
r - {  E -=-6:-r 45,1_00,0005,000 5,000 225,500,000,00c

2) trE=Il trg : otllti.f$ ft$.



4. +^l0ll rJ-et ̂l**

1) +^lel ++

2) g6J*e! +^lel q|E

t+.Jsqf l7fo_4:5,000 f l l

3) rlTl+^l +l+trg : 6|l!ti.f[t f$.

4) +{ull+d={fl : 6fl$,rf$ fl$.

s.el?!fltr*

l20L2E06g30g*d4 I
(Lt?l : +, fl)

(trJ91 : f)

l20L2 LJ 06 B 30 g *"J4 
I

"J6Jgl +^lel ++ g6JEt ++lel ++ trl'J6J!+^lel *+
1-80,400,000 + 45,1,00,000 + 135,300,000 +

f le g# sg+4+ EE!zIE+E H'l '3

7lE^.1 H5+ 45,1_00,000225,500,000,000  I AI TL tJ =.
=  t J l \ I E E

-st 
Al 45,1-00,000 225,500,000,000

+E +al+ H[3

1. elrJi lol ?l= +4 t 7f-Lf l [ 45,].00,000 l
71. s:l^l7f gts-d +^lel =+ 45,1_00,000
Lf. el=il fi= +^l

2. z1z3d0l Ii lAIEJ +{ [ 7f+Lf+cf+ef+nf ] t l
7f. SHAr-el rll*d
Lf. =fl4eHHArel rlltef
trf. +E +Il 1B€ Z al| oil rJtl H Egel rtt *el

ef +Etl+^ldl^f HAtgl ll-el
tr|. 7l+ HEql eltf ^11-d

3. elrJf lol +gEJ +4 t l
$zJilg ts^l-Ef + ?l= +| [1-2+3 ] [ 45,100,0001

I

x €71=dl EFA+4f (848: o/o) : .x.-T-



6. HllBoil $Ht ̂ tE}

1) olel Eel +Hll'JE
trJdtlHl,t;.o; g7l Hil=J;!qqg zlE4 o=. =J6]|  f gLJr olelu|.|-J-d_Eol 90o/o olgg
++ql4l EE9E Htl=J-g ql€gLlcf. ol 6l^1.ts sJHHeJol 6{E6l-b H+lqlql^l
E'6|l  ̂lgLlE HHtrJ7ltsole1€ rala;q Hl|.J* + fleq, 7184o._tr =J6H ^lgLl
E ?J7l84Hl L00o/o de4g H|l=Jqq, "Je.r.; ol^fglTf 'J6H  fEuJg"l ?J71,87181
LHql^j 4€g + ?laqtrf. trfEl,6!lHl{=Jge ej4q d7loi l^1 olgE! 'J++3 B
Tlol H|1.J7f50lq $€^l s.gr6fxl gaLltr l .

2) 6l= s^lgEEol Hll=Joll EJ*et ^ts
t+BojETfo-q : 5,000fl l 1cJ$l : fl)

x Ht|B€** = UHBE/BTliolq
x HlJ .J+ q t = Hl| .J = lLQ l6'J g xl-pfr + z | ts'J g ̂ f E A /21
x Hg^fEB = ^fEE+xlEBQB
X EEftlHH=Jg = u[|'Jf e1t,3659/(6fl-J^f ggEol g+)

-t !l
TE rll107l rlleTl rll87l rL77, ulsrl

' J7 l+0 lq r0,624,200,369t0,624,200,369LL,502,522,2489,857,309,798LL,66L,30g,379

+.J+0lq(g) 236 236 255 2L9 259

0lqHf l 'J-dsL4,479,393,659L4,246,196,0r0L5,r24,517,8909,8s7,309,798l'L,66L,309,379

Hfl BET"4 14,479,393,65914,246,L96,0I0L5,r24,517,890L3,479,305,44015,283,304,020

HtlB€*Bt L33.360/o 134.09o/o 13L.49o/o L36.74% 13L.06%

Hl |B+qE 6.42o/o 6.32% 6.7r% 5.98o/o 6.78o/o

EEJTTH]|'JE L2.8t% L2.60% L3.45% LL.92o/o 13.59%



2 + rtttel +€*ds I E€Lilq

r. +rlttet +€*ds

1. 7lg?==€+Etl+rtq^l

1) *rltlel +€-dg(sE rlt!€ EEf+q Ef€)

x 1.H ri l2s^ "l  ^l6JH l lzznol +€ql el4q +fl49! r l t lTfsqg t l€
- €=J^l 'JoJEJ ++ "! olE +^l4q r*6fr. ?l= ^ftlel 6JEJ, t!+g6Jo

e I€EJ ^fe 4 ol$ F^ldlq t+6f:a fl: ^ftlel -"JaJE EEtflq I+€
2. €^lt(r l^l^fE+=Hl7l7J trJEg, d+"J6Jg 5E= +5ttel E|l4g+El 2Ll

olLHol q^f€aJ^l 'JgE! +8, d+"JtsE €i4q Ed-d ^fe "I rg+5tl
o; nflzJrflfrE sEF)g zlEs-e 6fq Hlgtr 4r-€

3. ̂ |A|fl.g^ffl E +5$^iAql rJrsf ilal= +5tlql sEr4q ^+€
4. :a;1u1f 5.8-E E^l6f= 7)? 7lE

(Ef?l : EtrJg, %)

*+ E+71 'J+71
SirltltllHl
+€'H[*.,f,l$*E Hl€ rttt*E Hl€

+5tJ

E'XI I r €4t€ 638,809 96.72 638,809 97.67 97.67

97.67

^larfl.gxffl 5 +5tl
^f$ql Eltef flal

+E:tr7l|g^lg

€aJEf II1| HSEJ +E(ffi
6),  UT"JaJoe ZE€*d
^fB I ^f, FSttel
[}|4Et|*

+-Ftl$ils7f=fl

f,7f=3 226 0.03 226 0.03 0.03

BETlrJ qlxl 2L,222 3.21 L4,824 2.27 2.27

TlEf  ̂ f^ l 249 0.04 188 0.03 0.03

= ^ftl
^f  7 l^ fE 242,669 36.74 236,926 36.22 36.22

L00o/o

+rl| 4I7,837 63.26 4L7,L2L 63.78 63.78



2) +Ittlsl +€telg (€eJ^l HEEJ +e, d+'JtJ€ E6lq Ed*e! rl+ "rt +S
s5tlgl rll4Efl+e 4rlrlE+=HlTlrJ tlEg, t!+"Jgg 5E= +5tlel ull4ts=
+El 2LJ olLiloil= +Ett g+oil^l rileldtr tl€)

(E9l : EElfl, %)

*+ d+71 sF7.l Aixlt}EllHl
+8Hlgrlt!+o4 Blg rltt*E ult

+5t]

tr^l q l
i< -r €4rE 638,809 96.72 638,809 97.67 97.67

97.67
^18il.9^fd 5 +5tt
^lEoll $Ef ilal

+Etj7[| g^f g

+Etr$al*7|-=fl

*7f=f l 226 0.03 226 0.03 0.03

BETlEr ql i l 2L,222 3.2t L4,824 2.27 2.27

TlEl rl$ 249 0.04 188 0.03 0.03

* ^f$
^ l7 l^ lE 242,669 36.74 236,926 36.22 36.22

L00o/o

+It| 4L7,837 63.26 4L7,L2L 63.78 63.78

x 1.9 rl l2s4 "l ^IEEJ 1112760l +€ql el4q +fl4p1 xfLfTfo4E t!€
- €B^l HgE +a ol 0l= +xl6fq a:*dfr. flb xftfel Eaf, t]+g6Jo

-+ 6€g ^fB I ol$ Frf{q n*6fr. ilF ^ltlel -da-ts. Egrqq qt€
2. €lrf$(4^1^fEe=Hl7li l  trJEg, d+ggg s:= +E:.t lel EH4g+El 2E

olL|Jol sl^l€aJ^l HgsJ +e, d+"J6Jg Ei4q Edtr ^lB I i++Etl

"l D|l4E|.|aE EEr-)g zlGg-e 4q HlgE rl€
3. ̂ 18fl.911.fl 5 +stl&Aoil $Er- flalts +5$oil Eer6|-q +€
4. :a1u1f -Ef.-tr E^l6fb 7Lz 7lE



II. $441o1 EeLilq

1. +Ett 4eflLflq

1) EllE+5t! : 6llB^ltf

2) Dll4+8tl : 6ll!f,t[g

flg

fla

+5ttsE *7t=fl lElllflq
6l|'J^IB fi,8.

s7l=fl 1e[Lilq
6|{ Br-^f g fi,:.

4. *t7lEt q{LHq
1g$l : fl)

+ES# Egslil 0tIr* 0{ltlEE Hl3

MMDA +al3g ESeal L4,8I0,9L6,229

El 4l L4,8I0,9L6,229

x aETlEf qlxlLl]qe ol+ol^f(13EtrJfl) r l lel6fq q€.



rll 3 + rltl **dE! *ds

r.7l"J tr4 +at!E *d*.7l4.gEllE 
"J +9. grl?lel -ds

1. 4* +5ttE Tlls

+5,rtB qi l +l +gzl *.g g +d 4=€':::': (aa) "l
€=zl^
7l*d

rl€rl z*4A zlolF LB-24 2006.r2.28
=zlc}{ i 477,332,7m

oJxlfl : 6,283,452

€€q^
^ l+d

rl€rl EA+ ^l+E 992-47 2006.r2.28
9zl€ : 7,678,320

+5el4
4trld

.Ja+q^l 4l*T ZltF 1061 2006.t2.28
=!Be 1 477,332,7N

"Jzl€ : 4,828,980

€€el :
.Jal4 Azl5- a"&^l "Jal*!+ +.J€! 755 2006.r2.28

=4'&e : 477,332,700

"Jzl€ : 6,103,500
g€e. i4

sa4 AzlE f€r l  €F+ gAF 177-r 2006.12.28
*xjB.€ | 477,332,700

oJil{ : 3,175,068

€€q^
olll- ;i ll,xl
U U  + L ] E I

AzlE "Jt^l +g+ r{F 707-2 2006.r2.28
=zl"Je | 477,332,700

€=ul ̂
a.J ^lHla

64BE A*^l AlHlF 7u-9 2006.72.28
=^j.*€ : 477,332,700

9;l€ : 3,732,456
g=ul :

zle.l xl
O E I E

+t*qrl .rlalf tlB€l 1075-6,1852006.r2.28
=xl"Ja | 477,332,700

oJ;<l€ : 3,ffi5,224
ggq.

F+d
Ell++q^l F+ a^lF 908-5

.948-3.756-349
2006.r2.28

+{$€ : 477,952,700

I xl€ : 3,666,936
g€e l4

gr} ++4
gtl}q^l ++ tl.JF 322-e 2006.r2.28

=zJ'*€ : 477,332,7m

"J xl{ : 3,92I,444

Bat
"J xl€ : 47,946,600

2.i* +5ttE 7t4tr9
(trJ91 : E trJ8l)

+,#lB
+l+7tE +{++

rtE4
11=

B7}*E TlgtlE

#E
$7r
szf

+4[E

*.+
7-r,EETI lrl trl

E O -Exl ttl trl
E d Exl l ! l  tr l

E ! O

g=aJ.
Ell1i.

107llE

322,994315,998 -183 322,8LL31s,998638,80940,445s98,364

x arTl E7f+q 6 sx; arq{3 Ft} 6tfl9 exl g+ +aql q= #r"-qg



3.^S +EttE gE]|trg

4. ̂ * +5$E! +sgrl?!*dg

u.+5t!7il"J^lgel *ds

6|l.J^f g fi8.

(Ll$l : m', H-4 a3fl, o/o)

(trJ91 : E trJfl)

+t{!8, sqt7lts
tl4(rrf)'

gEllr!
(m)

HEll€.
{*iltE"H/:

gEllTl"E-.E4)

g?t
*gt||E

gqiltl
a|E+

gEllE!ElE!+l(rt')=J

E gEllE(fl)

6 E f l ^
E = L l _

Ell1i.

1-07|.|E

475,228.47475,228.47 I00o/o 54,247 I 114,150

+Et!B
gEl|Ttb

tr{r{
IJ -I

+eoJ&EHS
BII{
L: -l
::::.::::(a€) ,g

grfiE.

Tt*€
t+ ru

HI)

gEdj^
El l^ i
107H8

475,228.47

g=el:  El lai .  ̂ lgE 60,762.90 8,687 1_6.01

g=e.l^ Ellla 5=E 49,366.L7 4,L49 7.65

g=el1E1l ̂? grt_t :il.Tltr 38,285.L7 5,647 10.4L

g=El'\ Eiln=. 4lti* 5L,727.58 5,464 10.07

gEal^ E1l^i. aeJtr 52,090.13 4,033 7.44

gEal^ Ell l? TfgE 45,095.36 7,L09 1-3.1-1

g=el1 E1l1i. gttE 50,20s.86 6,906 L2.73

g=eJa Elln=. gdE 37,685.69 3,592 6.62

gEel^ Elln? dLf u"Jtr 49,002.79 4,223 7.78

gEd'l^ Ellni. gtl ++tr 4L,006.82 4,437 8.18

-sr'41
475,228.47 54,247 100.00

X 7fgtr 1= =+E4EEr'(260.72m')



rll 4 + ++E+E, +E+5, +elE

r .*+E+q4 "I  *87=

L +rl&$E +E+E
(7lzj : 20L2.04.0I - 2012.06.30) (El?l : E trJfl)

('J9l : E"Jfl)

u.++E +E=E B^t l

1.+tt l

1) +Ei.Lr gr|lE+el
(zlzj : 2012.04.01, - 20L2.06.30)

2) +5tl EllEll+q
6|l'J^lAr fig.

+# e.E Hl E(%") Hl r.

+ELI

g Tl|E L3,562 93.03

rl| 0t|+q
TlEf+q 873 5.99

+7|-=il

g TllE

o|]o]l+e.l
7l++q

TlEf+q L43 0.98

5+q L4,578 100.00

x 87f=flEJ7F+q3 EFTl+qql f igEl: B7f+qEl Egfg

+E gEI I  E Hl  * HI

gqE+q L3,562 1_00.00

dt
tl AI 1,3,562 100.00



3) TlEf +q(+5$7||g^lgg 5-d Es+q EEr)
(7lzj : 20L2.04.01 - 2012.06.30) ('J?l : EtrJel)

:t tt
T E 5.

:El
otl Hl € Hl' '''I

rJa lHl+q 873 1-00.00

6l
ti 4l 873 L00.00

2. g7l=fl

1) +71.=d DHEfi+q
6l|'J^fgt fig.

2) +7f=fl E7L+q
6}|.J^fB fi,g.

3) f,7|=fl olrf "l HH'Ja
6]|'J^IB flg.

3. TlElol +ol
(7lzl : 20L2.04.0L - 20L2.04.30) ('J+l : "-4trJ8J)

T' i .  E =o [
E - t nlB (%) Hl jl

ol^f+q 134 93.7L

trr'olq 9 6.29

TlEf +q zl L43 L00.00



tr. rlTlrhE+elE

x +qEe q44
eol zltlg
1^lE7l+qE =
2^l+TlfqE =
3^lE7l+qE =

^f 7l^fEolejE(Return on Equity)trAl E.J+|tr Eltlqq trfgrl

{1+ (  .JE7l+olq /  t (gTl5xf t i+Elz l"J^ lE) /21 )  }o-1
{ L+ ( gHJTl+olq / t(Ezlsxl-f; i+ft i7ltrJ^lF.) / 2l ) } '  - L
{ 1+ ( 1E7l+Ej 3Eizlz;'x;ol +0lel / l(9lTllxffii+f;fzlg^lE)
/21  )  l o / t - !

4^lf l7lf el$ = ( 'J7ltolel /  t(Ezlsxl-f; i+ft i7l"JI|E) / 2l )

(=J9l : %)
-r !J
T E LLT| 1E7l Lo7|t 2E7l 1o7l +ETl s7l 2E7l

trJ6l|6l^f+qE(A) L2.86 9.86 7.56 9.64

ttgEt+elE(B)
4rf+qE



4 s + +Ettgg€Hl E {Eq +Et ̂ }B

r .  +Ett  ggeHl
(7lzj : 20I2.04.0L - 2012.06.30) (El9l : Elrfl)

-t ll
T E +E HIE(7") HIA
gf lH+ 2 0.03o/o

_E_g_E 57 0.740/o

u7l-8?+El 1,811 23.660/o

^lt!gf el++E 382 4.99o/o

^l$Hl|++E T2 0.L6%

^f++E+++E 3 0.04o/o

+Etl$alflE+++-E 36 0.470/o

r la++E 4 0.05o/o

^Jl#rl811 47 0.620/o

Bfrdd Hl 1 0.jLo/o

ol^ f  Hl t 5,298 69.23o/o
*stzl

7,653 100.007o



u. g++l=+HlE

+E rlETls rl aHl €(5E= { *E}o4)4lt!gH Hl, 3

&tEf al
-A-\  =-r-rr

/.-. \\-rl

aaJi

^f$d E+

1. ollg++E
. 0|Jg+"+ x0.65%
(84 +xl7l? Egl_e"l  ̂+f loldg+q 7g0lLi l^ la)

1  O A . \ / r - =
Z. E'E'TT.EL

71. &5^TlEffE: E[ ge.+ x0.I0%
(.J, -e.gg5tl E1|4o.e ggl 6l|tlg ol++EJ TlqrH
$EH|IS dgiTfr lb El|g+e4 El lu Ttq^| l t#H|l  dg
el +^ltetr Et.)

+. 8t€rl+++E
-et€q++EI: El lges4x0.L5% (1-TlL}|xl  371ts f l8)
(.J, e.gg5t! ol|4oe p.!"d 6||ttg 0l++E1 TlqrH
ttEHllg dgttl.^lb ofl9+"4 El|t! Tlqx||tEH|l dg
el $x;-11oE gr.)

-e€id!l++Etr

: (gt€r|.++E I ife+ Hl|go+-qEufltrJe{)x15%

3. Ell4++E
71. oHr+7lE++E : *j$cfl fr x Ell 47lE++-E €

xleE|{+ Ot|47IE++E€

1,000q9 ol6l- 0.60o/o

1,000qfl aal 2,000q9 oldl 0.55%

2,000qfl al1 3,000q9 ol6f 0.50o/o

3,000qfl aa1 0.45o/o

a^[P!g €te.a,q q€+ +*+Pl+ 70J0lLl| rl;

Ll. El|4€rl++.R
-E}| 4€I[++E I : 2,689H-4 oJfl
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